sponse quick only a neurones are involved,
 far and can arrive at the effectors almost at once. If reflex Tesponses inv
the brain they would be much slower. Why?

The stimulus, a painful bee sting, is
detected by receptors and changed into e

an impulse and sent along a sensory : . B[ \ l
~neurone to the central nervous system. .\

In the central nervous system the sensory
neurone passes the impulse to a relay
‘meurone, which relay the impulse to a

motor neurone.

The impulse travels along the motor
~neurone to effectors, muscles in the hand. /
a1 | &

T'he muscles then contract and move your '
hand away from the bee. The time from the a\

stimulus to the response is about 0.05 secon

Block Diagram of a Reflex A:i\' _‘( Om
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Here's a block diagram of a reflex

arc — it shows what happens,
from stimulus fo response.
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